SQiCY- Q1. Match each quadrilateral to the correct description.

One has been done for you.

\t“"«:;
2 pairs of sides equal in length.
4 right angles,
// Only 1 pair of parallel sides. }
Opposite sides are parallel.
It has no lines of symmetry.
4 sides of equal length.
Opposite angles are equal.
1 mark
Q2. Here is a regular hexagon.
Join three of the dots to make an equilateral triangle.
Use a ruler.
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Here is a regular octagon.
Join three of the dots to make an isosceles triangle.

Use aruler.



1 mark

Q3. Here are some shapes on a grid.
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Write the letter of each shape that
has one pair of parallel sides.



